4 T-20 MCOs Series gVEEICED

581. In which one of the following countries, the Mediterranean

type of Biome is found? fefeifdd & & g = cor &
HACTATTNIT YehR T SIAIH GIAT STl &7

(a) Chile

(b) Kenya

(c) Argentina
(d) Bolivia
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582. Match the following:

List-I (River)

A. Danube B. Rhine C. Rhone D. Loire

List-1l (Mouth of the river)

1. North Sea 2. Black Sea

3. Bay of Biscay 4. Mediterranean Sea
ABCD

(a)2143

(b)3412

(c)2413

(d)3142
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583. Spruce and Cedar are tree varieties of: ¥J& 3R ¢deR geT hT
fores &
(a) Equatorial forest ${ALIET T
(b) Temperate comferous forest efTaIsoT %IEF»EI'Iff del
(c) Monsoon forest HleT¢eT do

(d) Temperate deciduous forest frAISuT quigTdr aet
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584. forested mountains are the Deserts, fertile plains and moderately
characteristic features of which one of the following regions of India ?

JATeoIed 9dd ASEY, 3US3 Held 3R AR & Hedoli@d &3 # &8
g T Fr AT AAwaw g ?
(a) South-Western border along Arabian Sea
3T PR & A1 SIau-uig#Hr diAT
(b) Coromandel Coast ®RIHAS dc
(c) North-Eastern Frontier 3tR-gdl H#HTd
(d) North-Western India 3a-9i2g#T dRd
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585. Which one of the following is not an international boundary line?
fIfa@d # & -8 Teh Ioaserd d1AT 39T gl & ?
(a) Dresden Line 3HssT oI5
(b) Durand Line {5 @r
(c) Maginot Line #fSdic s«
(d) 38th Parallel 38 df FHATAR
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586. The brightness of a star depends on its:
frdl aR & Tda+ fhg W AR F:Ar &
(a) size and temperature only &had 3SR IR dT9HTA
(b) size and distance from the earth C[?Ifr g 3R 3R Z',\ff
(c) size, temperature and mass 3R, dYHTT IR GTHT
(d) size, temperature and distance from the earth

R, d9ATT AT gedr & g
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587. Which of the following statements in the context of northern hemisphere

is/are correct? 3A MY & g H ATt Ed H & Sl T/ HUT Tel

I
1. Vernal equinox occurs on March 21. a8d fa¥a 21 AR & gldT &

2. Summer solstice occurs on December 22. IsH FHhifad 22 TS &l gldl ¢
3. Autumnal equinox occurs on September 23. e fava 23 AT FT g &

4. Winter solstice occurs on June 21. fideTelld HehTfd 21 ST I gldl &

Select the correct answer using the code given below:
(a) Only 1 (b) Both 1 and 3

(c) Both 2 and 4 (d) 1,2 and 3
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588. During solar eclipse: H:éff IGUT & ARG

(a) the earth comes in between the sun and the moon.
gedl I 3R I¢AT & &g H AT 6

(b) the moon comes in between the sun and the earth.
g Hl, I 3 gl & & # 37 1T B

(c) the moon comes exactly halfway between the earth and the sun.

AdgAT, gl IR T & S dT A 37 1T B

(d) the sun comes in between the earth and the moon.

g2l 3 TegAT & ST H GI 3 AT B
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589. Which one of the following is a conventional energy source?

fAFATf@d H @ FieT G IRIRS Fail Ed g7
(a) Tidal energy SARIT Fall
(b) Geothermal energymﬂ?HTCﬁ'J Sl

(c) Solar energy@k
(d) Biomass energy STTHTT oll
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590. Assertion (A) : There is high salinity in Red Sea.

Reason (R) : Rate of evaporation is high in Red Sea.
grar (A): ofel IR H 3Td dUldT g
SRUT (R): ol PR H arediaior $r eI 3T gl
Codes
(a) A and R are true, and R is the correct explanation of A
(b) A and R are correct, but R is not correct explanation of A
(c) A is true, but R is false A

(d) A is false, but R is true A
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591. Assertion (A) : Volcanic eruption is accompanied by earthquakes.
Reason (R) : Volcanoes erupt water vapours and dust particles in
the atmosphere.

arar (A): #Y & Gy sarelHdl [aEpe giar gl

T (R) : —clTarmf@?ﬂ q CII€—IJ-IS(>1 A Selarsq AR el &
0T Hed gl

Codes

(a) A and R are true, and R is the correct explanation of A

(b) A and R are correct, but R is not correct explanation of A

(c) A is true, but R is false A

(d) A is false, but R is true A
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592. One of the main causes of air pollution in cities is emissions from
vehicles like cars and trucks. Cars emit various pollutants which are

bad for human health when inhaled, like : 2183 & arg JcHUT bl Ueh

AT FROT FRI 3R THl SiF dlgdl F glel dTell 3ol ¥l Y RS
[ &l 3cdoldd ddl g ol 919 ol I AT T & folw

gl Re 8ld &, o4

1. Nitrogen oxides (NOx) 2. Carbon monoxide (CO)

3. Carbon dioxide (CO2) 4. Benzene

Which of the above pollutants are not tolerated by human beings even
at very low levels? 30ed YWl H & Hi-AT HIST 3 e
T 9T HT &< T8l h{ Gohdl 87

(a) Both 1 and 4 (b) Both 1 and 2

(c)1,2and3 (d)1,2and 4
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593. Which one of the following sea routes is the shortest from point to

point? TAFAfRAT T ARt F ¥ Fa-ar v g § Ng T
e BT g7

(a) Kolkata to Yangoon chloichlcll a 2:|'|‘Jr;r

(b) Kolkata to Chennai hITehldl H Usels T

(c) Chennai to Port Blair ﬁﬁé’ g dic W
(d) Mumbai to Colombo Jfl:sl'é' a Hrddl
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594. Which one of the following is not a Green House Gas? farTai@d &
8 i A eI g139 39 G 57
(a) Water vapours Slel dI®Y
(b) Methane HIeT
(c) Ozone 3TIailT

(d) Carbon Monoxide hTeloT 3:I>IT-IT317¢{-II$S
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595. Which one of the following is the correct sequence about various
levels of organization of Biosphere? SRIFHRR & HISA & TR

TRT & TR H AFITEd H H hled AT Hal e g7
(a) Eco system — Blosphere Community — Population
Hq \deSﬂ-HHQQ-ddHLAI
(b) Population — Organism - Ecosystem Blosphere
STAEAT - Sid - GIRTEATAST dF TAEHRI
(c) Organism — Community - Population — Biosphere
Sl - THCHT - SA9ET - SiidHAs
(d) Organism — Population — Ecosystem — Biosphere

ST - SHIEAT - UTRIEATde: dT - SIdHASd
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596. Which one of the following describes the Lithosphere?

e

ol

T H ¥ hid AT TTURFEHIIT T Ul

(a) Upper and lower mantle 39T IR A ﬂ’cf?»r
(b) Crust and upper mantle 99sr IR FIA Hed

(c) Crust and core aid IR IR
(d) Mantle and core Hcol IR PR
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597. Which one of the following statements is not correct?
(a) Temperatures decrease from the equator to poles 84?:[%21 W@r g
gl ek YA el §
(b) Temperatures in equatorial regions change substantlally from
January to July ﬁ'GIT:I?-ﬁTF a3l H a4 o1<>1|$ deh dIHT
# qared aRade ardr &
(c) Large land masses located in the subarctic and arctic zones develop

centers of extremely low temperatures in winter 393{Thiceh 3R
ATehiceh &7 H TUT 92 HTH AT AfcAr H Jgc A

J9H & Sz RAeflg s &

(d) Highlands are always colder than surrounding low lands &dl drol

mmasﬁaﬁrsmwa?rawﬁgﬁ%na?m%

THE TUTORS




4 T-20 MCOs Series 4EECEL

598. Magnetic meridian is an imaginary: EIEIW IJFEGIT Th
A IGE RS
(a) line along north-south 3dY-GI&ioT o T IW@T
(b) point ﬁg
(c) vertical plane F&aTeR
(d) horizontal plane SIS
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599. An up fold in rock is:
qeeled H Teh FUX &I dg &
(a) Graben ISl
(b) Horse B‘Iﬁ
(c) Anticline TUcldollel
(d) Syncline RAfcada
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600. Which one of the following gases is found in highest quantity in
Exosphere? gigHAsd H HedATadi@d H T hid-dr g
gareer AT & 913 ATdr 872
(a) Hydrogen
(b) Helium
(c) Nitrogen
(d) Oxygen
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